

St. Louis County, Minnesota



Date of Report: 5/12/2025 4:19:34 AM

				General De	tails				
Parcel ID:		620-0010-053	69						
			Le	gal Descriptio	on Details				
Plat Name:		UNORGANIZ	ED 54-13						
Sec	ction	То	wnship	R	ange		Lot	Block	
3	33	54			13				
Description:		W1/2 OF SW	1/4 OF SW1/4	OF SW1/4					
				Taxpayer De	etails				
Taxpayer Name WALLACE THE			EODORE S						
and Address:		3081 LITTLE (CLOQUET RIV	ER RD					
		DULUTH MN	55803						
				Owner Det	ails				
Owner Name		WALLACE TH	EODORE S ET	ΓAL					
			Paya	able 2025 Tax	Summary				
		2025 - Ne	t Tax	x \$1,631.00					
		2025 - Sp	ecial Assessme	Assessments \$25.00					
		2025 - T	otal Tax &	Special Asse	56.00				
			Curren	t Tax Due (as	of 5/11/2025	5)			
	Due May 15			Due Octob	oer 15		Total Due		
2025 - 1st Ha	lf Tax	\$828.00	2025 - 2	2025 - 2nd Half Tax \$828.00			2025 - 1st Half Tax Due \$0.00		
2025 - 1st Half Tax Paid \$828.00			2025 - 2	2025 - 2nd Half Tax Paid \$828.00			2025 - 2nd Half Tax Due \$0.0		
2025 - 1st Ha	alf Due	\$0.00	2025 - 2	2025 - 2nd Half Due \$0.00			2025 - Total Due \$0		
				Parcel Det	ails				
Property Addre	ess:	3081 LITTLE	CLOQUET RIV	ER RD, DULUTH	MN				
School District	t:	709							
Tax Increment		-							
Property/Home	esteader:	WALLACE, TH	HEODORE S &						
			Assessme	nt Details (20	25 Payable 2	-			
Class Code (Legend)	Home		Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity	
201	1 - Owner Hon (100.00% total		\$44,000	\$139,000	\$183,000	\$0	\$0	-	
	,	Total:	\$44,000	\$139,000	\$183,000	\$0	\$0	1529	



St. Louis County, Minnesota



Date of Report: 5/12/2025 4:19:34 AM

				Land D	etails					
Deeded A	Acres:	5.00								
Waterfro	nt:	-								
Water Front Feet:		0.00								
Water Code & Desc:		W - DRILLED WELL								
	e & Desc:	-								
	ode & Desc:	S - ON-SITE SAI	NITARY SYSTI	ЕМ						
Lot Widtl		0.00								
Lot Dept	h:	0.00								
•		ot guaranteed to be s	urvey quality.	Additional lot	information can be	e found at				
https://ap	ps.stlouiscountymn.	gov/webPlatslframe/f	rmPlatStatPop	Up.aspx. If t	here are any ques	tions, please email PropertyT	ax@stlouiscountymn.gov.			
			Improvem	nent 1 Det	ails (DWELLI	NG)				
Impro	ovement Type	Year Built	Main Flo	oor Ft 2	Gross Area Ft ²	Basement Finish	Style Code & Desc.			
MAN	UFACTURED HOME	2000	1,50	60	1,560	-	DBL - DBL WIDE			
	Segment	Story	Width	Length	Area	Foundat	ion			
	BAS	1	26	60	1,560	FLOATING	IG SLAB			
E	Bath Count	Bedroom Count		Room C	Count	Fireplace Count	HVAC			
2	2.0 BATHS	-		-		-	CENTRAL, GAS			
			Improvem	nent 2 Det	ails (GARAGE	E E)				
Impro	ovement Type	Year Built	Main Flo	oor Ft 2	Gross Area Ft ²	Basement Finish	Style Code & Desc.			
(GARAGE	1992	1,08	80	1,080	-	DETACHED			
	Segment	Story	Width	Length	Area	Foundat	ion			
	BAS	1	30	36	1,080	FLOATING	SLAB			
			Improvem	ent 3 Det	ails (GARAGE	EN)				
Impro	ovement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc.			
GARAGE		2013	1,20		1,200		DETACHED			
Segment		Story	Width	Length	,	Foundat				
BAS		1	30 40 1,20		1,200	FLOATING	SLAB			
			Improver	mant 1 Da		· T \				
Inconse	evenent Tune	Veer Built	-		etails (12X14 S	•	Style Code & Doce			
Improvement Type STORAGE BUILDING		Year Built 2012	Main Floor Ft ² 480		Gross Area Ft ² 480	Basement Finish	Style Code & Desc.			
SIUR		-	-	-		- Eoundot	-			
	Segment	Story	Width	Length 14	Area 224	Foundat				
BAS BAS		1	16 14 16 16		224 256	POST ON GROUND POST ON GROUND				
		1	9	9			DN GROUND			
	OPX	1	-		81					
			-		tails (2- META	•				
	ovement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc.			
STOR	AGE BUILDING	0	24		240	-	-			
	Segment	Story	Width	Length		Foundat	-			
	BAS	1	1 10 12		120	POST ON G	ROUND			







Date of Report: 5/12/2025 4:19:34 AM

		Improver	nent 6 De	etails (SLEEPER)		
Improvement Type	nent Type Year Built Main Floor Ft ² Gross Area Ft ²		Gross Area Ft ²	Basement Finish	Style Code & Dese		
SLEEPER	2017	286 286		-	-		
Segment Story		Width	Length	Area	Foundat	ion	
BAS 1 11 26		286	POST ON G	ROUND			
OPX	OPX 1 6 11 66		66	POST ON GROUND			
		Impro	vement 7	7 Details (ST)			
Improvement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Dese	
STORAGE BUILDING	0	14	4	144	-	-	
Segment	Story	Width	Length	Area	Foundat	ion	
BAS	1	12	12	144	POST ON GROUND		
		Improve	ement 8 D	Details (Carport)			
Improvement Type	Year Built	Main Flo	oor Ft 2	Gross Area Ft ²	Basement Finish	Style Code & Dese	
CAR PORT	2018	21	6	216	-	-	
Segment	Story	Width	Length	Area	Foundat	ion	
BAS	1	12	18	216	POST ON G	ROUND	
<u></u>		Improver	nent 9 De	etails (16X20 ST)		
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc	
STORAGE BUILDING	0	32	0	320	-	-	
Segment	Story	Width	Length	Area	Foundat	ion	
BAS	1	16	20	320	POST ON G	ROUND	
DKX	0	6 9 10 20		54	POST ON GROUND		
DKX	0			200	POST ON G	ROUND	
		Improven	nent 10 D	etails (10X12 ST	Γ)		
Improvement Type	Year Built Mair		Floor Ft ² Gross Area Ft ²		Basement Finish	Style Code & Dese	
STORAGE BUILDING	0	120		120	-	-	
Segment	Story	Width	Length	Area	Foundat	ion	
BAS	1	10	12	120	POST ON G	ROUND	
		Improven	nent 11 D	etails (12X20 Dł	()		
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc	
	0	24	0	240	-	-	
Segment	Story	Width	Length	Area	Foundat	ion	
BAS	0	12	20	240	POST ON G	ROUND	
	Sale						







Date of Report: 5/12/2025 4:19:34 AM

		A	ssessment Histo	ory			
Year	Class Code (<mark>Legend</mark>)	Land EMV	Bldg EMV	Total EMV	Def Land EMV	De Bld EM	g Net Tax
	201	\$40,700	\$126,600	\$167,300	\$0	\$0	-
2024 Payable 2025	Total	\$40,700	\$126,600	\$167,300	\$0	\$0	1,358.00
	201	\$39,000	\$121,100	\$160,100	\$0	\$0	-
2023 Payable 2024	Total	\$39,000	\$121,100	\$160,100	\$0	\$0	1,373.00
	201	\$37,600	\$115,400	\$153,000	\$0	\$0	-
2022 Payable 2023	Total	\$37,600	\$115,400	\$153,000	\$0	\$0	1,295.00
	201	\$36,200	\$98,600	\$134,800	\$0	\$0	-
2021 Payable 2022	Total	\$36,200	\$98,600	\$134,800	\$0	\$0	1,097.00
		-	Tax Detail Histor	У			
Tax Year	Тах	Special Assessments	Total Tax & Special Assessments	Taxable Land MV	Taxable Bui		Total Taxable MV
2024	\$1.663.00	\$25.00	\$1.688.00	\$33,438	\$103.831		\$137.269
2023	\$1,649.00	\$25.00	\$1,674.00	\$31,832	* , * - ,		\$129,530
2022	\$1,563.00	\$25.00	\$1,588.00	\$29,457	. ,	\$80,235 \$109,692	

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.